NPS-1 Piano Stand
Installation Guide

List of Parts

4 —_—

e 17
W /‘ —

Backboard_

| | e ——

) ) ——am——

Triple Pedal Unit

F Corner Bracket Quantity: 4PCS
PEraN Sideboard Stand Pad Quantity: 4PCS
(= M6*20 Screw Quantity: 4PCS
] M5*35 Screw Quantity: 8PCS
=3 BA4*12 Screw Quantity: 8PCS
D KA3.5*12 Screw Quantity: 8PCS
— Wooden Connector Quantity: 2PCS
[[@ Cable organizer Quantity: 2PCS

Installation

1. Assembling the two Side Boards.

BA4*12 Screw

Corner Bracket |

Right Sideboard—s=—

KA3.5"12 Screw I

Sideboard Stand Pad

--'-r—Left Sideboard

2. Assembling the Triple Pedal Unit & the Backboard.

a. Lay down the Triple Pedal Unit on the leveled ground,
untie the triple pedal cable. Attach the triple pedal unit
to the sideboards with 4 M5*35 screws.

7
4

e Vi

‘ Triple Pedal Unit

M5*35 Screw
M5*35 Screw

b. Put wooden connectors into the backboard as shown.

Backboard

Wooden Connector

c. Secure the backboard to the sideboards with 4 M5* 35
screws.

Backboard

M5*35 Screw

3. Mount the Keyboard.
Hold the keyboard horizontally, and place it on the stand,
then secure the keyboard to the stand with 4 M6* 20
screws. Plug in the triple pedal cable to the [Triple Pedal]
Jack, use the cable organizer to keep the triple pedal cable
in place.

aandl
= S o °
=] { D = o
M6*20 Screw
k

| e—

|

[

| —— —

4. Installation completed.

NLUIH»X

www.nuxefx.com
Made in China



NPS-1E N EEEEZR
TEIEE

|| —
k

BEER

EUR AR A
~ fatg HE: A4
LR HE: 44
= FFIREIM6*20 | #HE: 40
e #25TM5*35 HE: s
- 125TBA4*12 HE: 8
ol B25TKAS.5%12 HE: 8p
 m— PNE HE: 24
I7] ELEES HE: 29

i BEHTERRER.

—. REREANRAIEBIERER

- R BE——

B25TKAB.5%12

R

= RERER
BREREREDE, BABREANZEREG, LIRSS
AIRAVIRLLY,, RIEFABEIMS*35EE, EAEME, B
3mm =R, BRRENSNEEEEAMIR.

ﬁg
A

125TM5*35

125TM5*35

. REERIR
1, BRENAHEBENEER.
FEEIR

Ktﬁ

2. BEANRR EEBHEIMNL, ERROAHED BB
B EAMRAOAEL, BIERETFL, FMIEEIM5*35
WREE, AEHBERBDIIE.

1BETM5*35

. REBINE
BRNENERIER L, BNFREBESTILXEEZGNR
RBAL, AFFIRIIM6* 208 EEE. BRIR&ZERIHS
NEREPEDALIERE, HEEREFMM CELEERS,
BEREEE.

?;
j
7

NLUIH»X

HEE RPRENEFRHEFRERAT  SlEm bt R L R OX e SR
SRS 14507 FBIE: 0755- 26869866 RIHE: www.nuxefx.com RS BRISTHETRIR
RAFRBIRAG £l HEHEMXERTHERLNEKI0S MBiF: 0756-3689866



	页 2
	页 3



